o
2 o
FH
Ir
R RS

)
82 rir

rr

Eﬂ ol 7} —?]T‘:E’](ﬂ

g2y | =4 | wd=s gdes
307~ 40" i -
0.2

A0 =0



Eae I AFS] =t g

@ E57h AXE s 710,

©® w47} H 2 A RAE47} by A,



ZAsto] Lpehd 8] AR

=
=

Tor

o=t

S

o HR=4E 7

T

KO

7F6 d o

o %

]
zH

12 15 (#)

9

6






Fod=t.

S

E47h Vg 2 AGY HHESE 7

5.

50 60 70 80 90 100 (&)




6.

oH R ERAA F4]

of=t.

-
Z3o

] 35012 B2k 79 AlFo] AdESE 75}



e 1L ol stme] A4l ol S 2Aste] Ued A Eso] Bxriz)
3 moFo] T molr}. ho]7h 404] o]kl MY AAe] B %1 Fela
(%) |
20 2
10
0

20 30 40 50 60 A



Fol Lhehdl A=)

S

EN

]
=

g

0.04

60"~ 70
70 ~ 80
80 ~ 90

90 ~

12

100

25

ol

@ A7) A=7F70 A ol 80 A mhel AFE] AHiEsE 0.32 o]t

2 AF 2] iS4 0.16 ©]th

R

]

A 70 A e

@ A7) A7 60 A ©l

=

4100 f m

@ A7 "7 90 A o

A AFe] 4= 0.4 ot

—

]

A 90 7 TRk

® A7] "d47E80 A o]



